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BiEx WEASHE TR RREDSHEES
% # s - BRHE By g {i & & 1

BRI 93,250,320 + 11,941,512 105, 191, 832
EEAGE 93, 250, 320
EERE 11,941,512
T O R 93,250,320 x 42.86% ( 30% =+ (1 — 30%) ) 39,967, 087
RHRME 105,191,832 + 39, 967, 087 145,158,919
—REEEE 145,158,919 x 53.85% ( 35% + (1 — 35%) ) — 6,996 78,161,081
KBS 145,158,919 + 78,161, 081 223, 320, 000
B FEZET 223,320,000 x 10.00% 22,332,000
EBEREN 223,320,000 + 22, 332, 000 245, 652, 000




BEANRE MBS RERENLT

% R Bg - AR BfL % B B ' # =
EHER 105, 191, 832
MFEZRITRAHERSHENES 105, 191, 832
MFEZRITRAHERSHENES 105, 191, 832
EEAGE 93, 250, 320
%Iﬁiﬂﬁﬁ?&?ﬁﬂb%?ﬁ&lﬁﬁﬁ%ﬂﬁ?ﬁﬂﬁ% 92, 505, 120
1 BIKREDHNEBRUCREERAE 24.00 3, 854, 380 92, 505, 120
BT
A
E3N=hc) 662, 400
2 TEHE 24.00 21, 600 662, 400
3]
ek - |E 82, 800
3 EaTHRE 1.00 21, 600 27, 600
3]
4 hREHRE 1.00 21, 600 27, 600
3]
5 RIR|E 1.00 21, 600 27, 600
3]
EEZE 11,941,512
EHAME 906, 504
6 EHRARE 1.00 906, 504 906, 504
=
BEERERRE 1,813,008
BEERERRE 1.00 1,813,008 1,813,008
=
EBRAEDEEHNRVELES 3, 600, 000




RERNRE HEBEETRRRRERE LT
8 XBAEBHEENRVELRES 1.00 3,600, 000 3, 600, 000
=
ES I 150, 000
9 ZBHRRRE 1.00 150, 000 150, 000
=
EBRASHEANRURRES 5,472,000
10 RBEAEBEENRVERES 1.00 5,472,000 5,472,000
M
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MFEFE TR SHES

&5 1
£ MIRKAERGHIEBRRUVREERENES 1A&4Y
22 [ g - KT B = B i 58 wmE w =
EEEMNE HEmA
A 1.40 55, 200. 00 71,280
e TS HEmC
= 1.00 3,771,100.00 3,777,100
& it 1E%8EH : 1.008 3, 854, 380. 00 3, 854, 380
&5 2
2% 18 1mEHY
22 [ B - IR =-Liv] = B i £ W E " =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
&5 :3
275 . BATHE 1mEHY
22 [ I - KT B = B i | W E " =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1EZ8ES : 1.00[E] 27, 600.00 217,600
B4
& PG 1EHY
£ [ R - KT B = i | W E iH =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1EZ8ES : 1.00[E] 27, 600.00 217,600




Rifix- I/ \vr—2

MFEFE TR SHES

EFS:5
275 RERBE 1mEHY
22 [ g - KT B = B i 58 wmE w =
EEEMNE HEmA
A 0.50 55, 200. 00 217,600
& it 1E%8EH : 1.00[E] 27, 600.00 217,600
5:6
&% EHARE 14y
22 [ g - KT B = B i %8 W E " =
EXARE
= 1.00 906, 504. 00 906, 504
& B 1E%8EH : 1.00=K 906, 504. 00 906, 504
&5 1
&% EERERRE 14y
22 [ B - IR =-Liv] = B i £ W E " =
BEREARE
= 1.00 1,813, 008. 00 1,813,008
& it 1E%8EH : 1.00=K 1,813, 008. 00 1,813,008
&5 .8
2% ERAENEEHRVEGRES 14y
22 [ B - IR =2 iv] =y i | W E " =
SA4 kY 1500c ¢ 3 &
A 24.00 150, 000. 00 3, 600, 000
& it 1E%8EH : 1.00=K 3, 600, 000. 00 3, 600, 000
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MFEFE TR SHES

59
2% EBHRERE 1XHY
22 [ g - KT By = B {f & 58 i w =
XBHRERE
= 1.00 150, 000. 00 150, 000
& it 1E%8EH : 1.00=K 150, 000. 00 150, 000
&S5 :10
2% ERAEHEEHRUERES 14y
Z2 [ g - KT By = B {f Eid %8 i " =
EBASHEEHRVERES BELUETEDA
A 24.00 228, 000. 00 5,472,000
& it 1E%8EH : 1.00=K 5,472, 000. 00 5,472,000




